
Çàíÿòòÿ 17�18: Ìåòîäè ðîçâ'ÿçóâàííÿ íåîäíîðiäíèõ ñèñòåì ç ïî-

ñòiéíèì êîåôiöi¹íòàìè. Çàñòîñóâàííÿ ìåòîäó íåâèçíà÷åíèõ êî-

åôiöi¹íòiâ

Àóäèòîðíi çàäà÷i

Çàäà÷à 1. {
ẋ = y + 2et,

ẏ = x+ t2.

Çàäà÷à 2. {
ẋ = 3x+ 2y + 4e5t,

ẏ = x+ 2y.

Çàäà÷à 3. {
ẋ = 4x+ y − e2t,

ẏ = y − 2x.

Çàäà÷à 4. {
ẋ = 2x− y,

ẏ = y − 2x+ 18.

Çàäà÷à 5. {
ẋ = x− y + 8t,

ẏ = 5x− y.

Çàäà÷à 6. {
ẋ = t+ tan2(t)− 1,

ẏ = −x+ tan(t).

Çàäà÷à 7. {
ẋ = −4x− 2y + 2/(et − 1),

ẏ = 6x+ 3y − 3/(et − 1).

Çàäà÷à 8. {
ẋ = x− y + 1/ cos(t),

ẏ = 2x− y.

Äîìàøí¹ çàâäàííÿ

Çàäà÷à 9. {
ẋ = y − 5 cos(t),

ẏ = 2x+ y.

Çàäà÷à 10. {
ẋ = 2x− 4y + 4e−2t,

ẏ = 2x− 2y.

Çàäà÷à 11. {
ẋ = 2y − x+ 1,

ẏ = 3y − 2x.

Çàäà÷à 12. {
ẋ = x+ 2y + 16t · et,
ẏ = 2x− 2y.



Çàäà÷à 13. {
ẋ = 2x− y,

ẏ = 2y − x− 5et · sin(t).

Çàäà÷à 14. {
ẋ = 2y − x,

ẏ = 4y − 3x− e3t/(e2t + 1).


